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Do not open this booklet until you are told to do so.

This s a test of your competence in high school mathematics. For each problem
there are listed 5 possible answers; one and only one is correct. You are to work
each problem, determine the correct answer, and indicate your choice by making a
heavy black mark in the correct place on the separate answer sheet provided. You
must use a pencil with a soft lead {No. 2 lead or softer).

This test has been constructed so that most of yvou are not expected to answer
all questions. Do your very best on the questions you feel you know how to work.
You will be penalized for incorrect answers, so it is advisable not to do much wild
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If you should change your mind about an answer, be sure to erase completely.
Do not mark more than one answer for any problem. Make no stray marks of any kind
on your answer sheet. The answer sheets will not be returned to you. If you wish a
record of your performance, mark your answers in this booklet also. You will be able
to keep this booklet after the test is completed.

When told to do so, open your test booklet to page 2 and begin. When you have:
finished one page, go on to the next. The working time for the entire test is 80
minutes.
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If y, = 2x% + 2x  and Yo = x2 - x, then Yy = Yo

a) x2 + x
b) -xZ - 3x
c) x2 + 3x
d) 3x2 + x

e) 2x% + x

(Hg‘x3 y2)3 in simplified form is

a) —-ég-xg y8
b} u2,_78..x6 y®
c) -%—xg y6
d) §§.x9 y®

e) none of the above

b)

The value of y which satisfied {4x * 3y
2y - 3X
a}) 0

5

17

12

c) %

25

d) z

e} none of the above

If f(x) = 2x + 3, f(f(x)) is
a) 4x% + 12x + 9

b) 4x2 + 6x + 3

c) 4dx + 9

d) 4x2 + 9

e) 4x + 6
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Algebra I

The complete factoring of the expression Xe -1 - 2y - y2 is

a) x2 - (1+y)?

b) (x+y+ L)(x -y -1)

c) (x+1){x-1) -y(2+y)
d) (x +y)x -y} - (1 +2y)

e) none of the above

Which of the following statements is true?
a) 0> |-10] |

b) [-10] = |8 + 4 - 2]

c) |-10] < |10}

d) (-5-7) =12

e) none of the above’

If f(x) = ¥x3 -1, f(x) =
a) -x +1

by 3/-x3+1

c) m

d) -3/x3+1

e) none of the above

If (0, 0) is a point of the graph of a linear function, which of the

following is false?

a) The y-intercept of the graph is 0.

b) The graph of the function is parallel to the x-axis.

¢} The constant in the function is 0.

d) The coefficient of the independent variable can be determined

from a single ordered pair.

e} The x~intercept of the graph is 0.
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If 3(x + 3) - 4(x - 1) is simplified, the result is

a) -x+ 10
b) -x + 5
c) 7x + 10
d} -x + 4

e) none of the above

If the points (1, -2,), (x, 2) and (5, 6} 1lie on a straight Tine,

a) X = 2 L
8
=31
b} x =3 5
=29
c) x 2'10
d) x=3

e) none of the above

The set of value(s) of k for which the point (k, 10) lies on the graph
of y = 3x2 - 17 s

a) {7, -7}
b) {3}
c) {-31
d) {3, -3}

e) none of the above

If 2x% - 3x2 + x + x3 - 10 is divided by x - 2 the remainder is
a) 20

b) 0

c) -~40

d) 4

e) none of the above
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The slope of the line whose equation is 6x - 2y - 3 =0 fis

a) &

e) none of the above

The statement that mp = np implies m = n is
a) true ifm#0

b) never true

¢} true for all mn, n and p

d) true ifp# 0

e) true ifn# 0

0f the numerals %% , M, VE, 2/3, 2.3131, the set of those
which do not represent rational numbers 1is

a) {%%., n, V&, ¥i, 2.313D)
b) Im &, &%, 2.313D)

) im Vi, B

d) {7, ¥4, 2.313T)

e} none of the above

+ 2= 2%+ 7 is
-3 (x=-3)x+2)

The solution of'i i g +
a) a hegative integer
b) an imaginary number
¢) a positive integer
d) an irrational number

e) none of the above
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x3 + MB
x3 y3
1

3453

x'3 + y-s

oy

A
1

& + 46

sum of the prime factors of 9x2 + 15x - 16y2 + 20y s

6x + 5

6x - 8y

3x -4y + b

9x + 4y

none of the above

domain of ﬁ/%—ng is

all real numbers

tz1
ts
t =
t 20

a 1is a real number, then Vaz is

none of the above

0 or t>1
0 or t 21

X

3

+y

-3 y=3
x#0 and y # 0 the expression *—¥ =

3
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How old is Mike-if the result is 36 when seven times his age in twelve
years is subtracted from the square of his present age?

The

=]

o g} o
e

o]

The

12
14
13
15

none of the above

3 2 1
equation |-2 x 0| =0
1 -1 x

has no solutions

has two distinct real solutions
has one solution

has a double real solution

has two complex solutions

complete factoring of 2x4 - 32y8 over the set of real numbers igg
2(x% - 32y8) |
(2x - 4y2)(x + 2y2)(x2 + 4y?)

2(x - 2y2)(x + 2y2)3

2(x - 2y2)(x2 + 4y%)(x + 2y2)

none of the above

measure of the area of the shaded region is
(n - l)}"2

(r - 2)Y‘2

%"('ﬁ' - 2)r‘2

1 - 2

none of the above
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If two real numbers x and y satisfy the equation xy = |x|y,
which of the following statements is always true?

a) x20o0ry-=0

by x 20

c) y=20

d) x20andy 20
g) none of the above

For what value of k does the equation xZ - 4x + k = 0 have two
solutions my and my with my - mp = 17

o
L S
— D[~

o

L

)
2O |~

o
p
POl

e} none of the above

Henry painted one-third of his yard fence in two hours. His brother
John took over and finished the job in three hours. How Tong would
it have taken both working together?

a) 7 %—hours

b} l%—hours

c) 5 hours

A
) % hours

e) none of the above

In how many years will the original amount be tripled at a 10% simple
interest rate?

a) 10

b) 20

c) 15

d) 5

e) none of the above

10
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In order to complete the square of the expression 3x? - 7x + 1, add
S AT AY:

a) D% - D

b) (-7)2 - (-7)2
7\2 7\2

c) (“g) "('?)

d) (H° - 4?2

e) none of the above

If r; and r, are the real roots of x0 - 7x3 - 8 = 0, find the value
of rlz + r22.

a) 1

b) 4

c) 20

d) 5

e) 65

The solution set of the inequality |3 - 2x| < |x| s

o
P
—-—
>
Tk
A

X < g& L[{x]g-< X £ 3}

=
—
—
>
>

Iv

3}
c) {x]1<x 53}
1}

(=%

M
~—
>
>
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23} U (x]x £ 1}

1]
L
—_—
b4
>

v

If the denominator of —§7:EZ~I- is rationalized, the result is
a
a) a2 - Y3 41

b) &a-1
a -1
3a + 1
c) a+ 1
d) Ya2 + 33 41
a+1

e) none of the above
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